
ELITE A.G

INSTRUCTION MANUAL

Please read th�s manual before us�ng.
Please keep th�s manual w�th�n easy reach for qu�ck reference.

ENGLISH 

YONTEM MAKINE SERVICE NETWORK
SERVICE HOTLINE     :   +90 212 433 7743

:   +90 212 552 7979
:   +90 506 137 8400

E-MAIL  : �let�s�m@yontemmak�ne.com
WEB      : www.yontemmak�ne.com

1

mailto:iletisim@yontemmakine.com


SAFETY INSTRUCTIONS 

This instruction manual and the indications and symbols that are used on the machine 
itself are provided in order to ensure safe operation of this machine and to prevent 

accidents and injury to yourself or other people. 

CAUTION 

This  machine should only be used by operators who have received the necessary 
training in safe use beforehand. 

Attach all safety devices before using the sewing machine. If the machine is used 
without these devices attached, injury may result. 

Do not touch any of the moving parts or press any objects against the machine while 
sewing, as this may result in personal injury or damage to the machine. 

MAINTENANCE INSPECTION 

Maintenance and inspection of the device should only be carried out by a qualified 
technician. 

Use  only  the  proper  replacement  parts  as  specified  by Elite A.G.

If any safety devices have been removed, be absolutely sure to re-install them to their 
original positions and check that they operate correctly before using the device. 

Any problems in device operation which result from unauthorized modifications to the 
device will not be covered by the warranty. 

2



  WARNING LABELS

Please follow the instructions on the labels at all times when using the device.If the
labels have been removed or are difficult to read please contact ELITE A.G.

INSTALLATION

Parts installation should only be carried out by a qualified technician.

Please contact Elite A.G. for any electrical problem that may need to be repair.

Do not connect the power cord until installation is complete, otherwise the device
may operate if the cut switch is depressed by mistake, which could result in injury.

All cord should be secured at least 25mm away from any moving parts.Futhermore , do
not excessively bend the cable or secure it too firmly staples, otherwise there is the
danger that fire or electric shocks could occur.

Be sure to connect the ground.If the ground connectıon is not secure, you run the risk
of receiving a serious electric shock, and problems with correct operation may also occur.

3



8

4



5



6



7



ELECTRICAL
DRAWING

8



9



PART LIST

10



PARTS LIST

FILE NAMEDESCRIPTIONQTYITEM

LC_008Photoelectric Sensor11

LC_021Sensor12

LC_019Nut23

ISO 4762 - M6 x 16ISOHexagon Socket Head Cap Screw24

EL_071_04-H0161Compact Cylinder15

EL_071_08-H0161Knife Bracket16

EL_071_09-H0161Knife
17

EL_071_03_T8422_B845-5_B842-905Compact Cylinder Adjust Plate Up-Down18

CW500N_01Compact Cylinder Adjust Plate
19

CW500N_02Machine Assembly Plate110

CW500N_03Omron Sensor Assembly Part111

CW500N_04Omron Sensor Adjust Part112

CW500N_05Mini Photoelectric Sensor Assembly Part113

EL_071_017-H0161Fittings114

EL_071_015-2T8422_B845-5_B842-905Hand Cover
115

ISO 4762 - M3 x 12ISOHexagon Socket Head Cap Screw216

ISO 4762 - M6 x 10ISOHexagon Socket Head Cap Screw217

ISO 4762 - M4 x 8ISOHexagon Socket Head Cap Screw418

ISO 8738 - 4(2)Plain washers for clevis pins - Product grade A419

ISO 8738 - 6(2)Plain washers for clevis pins - Product grade A420

ISO 8738 - 5(2)Plain washers for clevis pins - Product grade A421

ISO 4762 - M5 x 25ISOHexagon Socket Head Cap Screw222

ISO 4762 - M5 x 12ISOHexagon Socket Head Cap Screw223

ISO 7380-1 - M4 x 8Hexagon Socket Button Head Screw - Product grade A424

ISO 4762 - M4 x 12ISOHexagon Socket Head Cap Screw325

ISO 4762 - M5 x 16ISOHexagon Socket Head Cap Screw126

ISO 4762 - M3 x 5ISOHexagon Socket Head Cap Screw227

ISO 8738 - 3(2)Plain washers for clevis pins - Product grade A428

12

3

2

3

27

28

11

18

19

23

17

20

21

9

13

18

16

19

1

28

6

7

15

25

26

24

8

22

4

20

10

14

5

11



ITEM QTY DESCRIPTION PART NUMBER

1 1 Photoelectric Sensor LC_008

2 1 Sensor LC_021

3 2 Nut LC_019

4 2 Hexagon Socket Head Cap Screw ISO 4762 ‐ M6 x 16ISO

5 1 Compact Cylinder EL_071_04‐H0161

6 1 Knife Bracket EL_071_08‐H0161

7 1 Knife EL_071_09‐H0161

8 1 Compact Cylinder Adjust Plate Up‐Down EL_071_03_T8422_B845‐5_B842‐905

9 1 Compact Cylinder Adjust Plate CW500N_01

10 1 Machine Assembly Plate CW500N_02

11 1 Omron Sensor Assembly Part CW500N_03

12 1 Omron Sensor Adjust Part CW500N_04

13 1 Mini Photoelectric Sensor Assembly Part CW500N_05

14 1 Fittings EL_071_017‐H0161

15 1 Hand Cover EL_071_015‐2T8422_B845‐5_B842‐905

16 2 Hexagon Socket Head Cap Screw ISO 4762 ‐ M3 x 12ISO

17 2 Hexagon Socket Head Cap Screw ISO 4762 ‐ M6 x 10ISO

18 4 Hexagon Socket Head Cap Screw ISO 4762 ‐ M4 x 8ISO

19 4 Plain washers for clevis pins ‐ Product grade A ISO 8738 ‐ 4(2)

20 4 Plain washers for clevis pins ‐ Product grade A ISO 8738 ‐ 6(2)

21 4 Plain washers for clevis pins ‐ Product grade A ISO 8738 ‐ 5(2)

22 2 Hexagon Socket Head Cap Screw ISO 4762 ‐ M5 x 25ISO

23 2 Hexagon Socket Head Cap Screw ISO 4762 ‐ M5 x 12ISO

24 4 Hexagon Socket Button Head Screw ‐ Product grade A ISO 7380‐1 ‐ M4 x 8

25 3 Hexagon Socket Head Cap Screw ISO 4762 ‐ M4 x 12ISO

26 1 Hexagon Socket Head Cap Screw ISO 4762 ‐ M5 x 16ISO

27 2 Hexagon Socket Head Cap Screw ISO 4762 ‐ M3 x 5ISO

28 4 Plain washers for clevis pins ‐ Product grade A ISO 8738 ‐ 3(2)

12



YENIGUN MAHALLESI BAGCILAR CADDESI 
615 SK. NO 14/A 

BAGCILAR/ISTANBUL/TURKEY 

13


	1-.pdf
	Page 1

	TECHNICIAN MANUAL.pdf
	Page 1

	USER MANUAL SAYFASI.pdf
	Page 1

	PART LIST SAYFASI.pdf
	Page 1

	Untitled-1.pdf
	Page 1

	KAPAK ARKA.pdf
	Page 1

	ELECTRICAL DRAWING.pdf
	Page 1




